id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16495

63498

0

34004

Laszl6
Pitlik

17385
78396

17385
78650

Corru
pted
logisti
c
robot

The
first ¢
hallen
ge
should
be inte
rprete
d as fo
llows:

There
is a
logisti
C

robot
(demo:
https://
miau.
my-x.
hu/mia
u/304/
robotk
ar.MO
V).

This
robot
is func
tioning

72

531
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https://miau.my-x.hu/miau/304/robotkar.MOV
https://miau.my-x.hu/miau/304/robotkar.MOV
https://miau.my-x.hu/miau/304/robotkar.MOV
https://miau.my-x.hu/miau/304/robotkar.MOV

- seem
ingly c
orrectl
y.

Questi
on: are
we
capabl
e of de
riving
all of
the
rules
behind
the
visible
surfac
e?

Testin
g scen

arios

alread
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https://miau.my-x.hu/miau/320/testing_task1.xlsx
https://miau.my-x.hu/miau/320/testing_task1.xlsx

eting
all test
scenar
ios (X
LSX:
1;..512
), unde
rstandi
ng dat
a/struc
tures,
derivi
ng the
rules
of the
black
box
system
, defin
ing su
bstituti
on-cha
racters
/colou
rs for
the
used
pattern
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20777
)<--d
etailed
solutio
ns for

place-

ID (A;
B:C:D
)
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id |discus | paren |userid |userfu | create | modif | maile |subjec| messa | messa | messa | attach | totalsc | mailn | delete | privat | privat | wordc | charc
sion t llnam d ied d t ge | gefor |getrus| ment | ore ow d |ereply|ereply| ount | ount
e mat t to | tofull
name
16496 (63498 | 16495 |34004 |Laszlé |17385 |17385 |1 Re: Co |Detail |1 0 0 0 0 0 0 46 773
0 3 Pitlik [79542 {80140 rrupte |ed de
d mo-sol
logisti |utions
c for Sc
robot |enario
#9 (in
Experi
ment#
1):
sksksk

Kk

Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne

W

=green
Cell(E
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28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne

W_

=blue

Cell(E
29)_ol
d_all=
27777
)<--C
ell(E2
9)_ne

W

=red

Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
\

=not-
used
sksksk
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Cell(E
27)_ol

?
(7777
<--Cel
1I(E27)
_new_
numbe
r=1

Cell(E
28)_ol

?
(7777
<--Cel
1(E28)
_new_
numbe
r=2

Cell(E
29) ol

?
(?7777)
<--Cel
1(E29)
_New
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numbe
r=1

Cell(E
30)_ol

?
(7777
<--Cel
1(E30)
_new_
numbe
r=not-
used=
0
skkok
Cell(E
27)_ol
d_all=
B
22?27
<--Cel
1(E27)
new

letters
=(b)
Cell(E
28)_ol
d_all=
2
22?27
<--Cel
1(E28)
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_new_
letters
=(ad)
Cell(E
29) ol
d_all=
B
22?27
<--Cel
1(E29)
_new_
letters
=(c)
Cell(E
30)_ol
d_all=
B
22?27
<--Cel
1(E30)
_new_
letters
=not-u
sed=()
skkok
Basic
questi
on: Is
it corr
ect? If
not,
which
solutio
n-layer
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why
not?
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16496

63498

16496

44100

Laszl6
Pitlik

17385
80107

17385
80107

Targy:
Re: Co
rrupte
d
logisti
c
robot

Paralle
1 quest
ion:
How
should
we
store
all sol
ution
layers
in case
of all
Studen
ts and
assum
ped
that ev
erybod
y may
store u
nlimit
ed
guesse
s for
eache
xperi
ment,
scenar
10,

[Sm—

59

333
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layer?
(It
means:
each
layer
can
have d
ifferen
t numb
er of
guesse
S in
case
of a pa
rticula
r Stud
ent. /
The ex
pected
databa
se-stru
cture
should
suppor
tthee
valuati
on of
the
best
Studen
t based
e.g. on
pivot-t
ables/q
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ueries.

..)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif | maile
ied d

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16496

63498

16496

46683

Bilegt
Gankh
uyag

17386
63173

17386 |1
63173

Targy:
Re: Co
rrupte
d
logisti
c
robot

Cell(E
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
W_
color
=green
looks
like
should
be:
Cell(E
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
W_
color
=yello
\
beside
s this,
the sol

ution

[Sm—

24

232
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seem
to be
correct
overall
. Deriv
ing
from:
https://
miau.
my-xX.
hu/mia
u/320/
testing
_task1
XIsx
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16496

63498

16495

46683

Bilegt
Gankh
uyag

17386
64848

17386
64848

Targy:
Corru
pted
logisti
c
robot

Questi
on: are
we
capabl
e of de
riving
all of
the
rules
behind
the
visible
surfac
e?
Answe
r: not
all of
the
rules
from
the
visible
surfac
e.
Only
the
fact
that
the

[Sm—

285

2960
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robot
seem
to be
pickin
gup
the "c
ube"s
from
first in
line
and
then sc
anning
(most
likely
the
color)
them
using
using
the ma
chine
on the
left(fr
om the
camer
a
point)
then st
acking
them
on the
left in
color

Page 17 /296




order.
Task:

EXPT.

9

skkok
Cell(E
27)_ol
d_all=
207777
) <--C
ell(E2
T)_ne
W_
color
=yello
\
Cell(E
28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
W_
color
= blue
Cell(E
29) ol
d_all=
27777
)<--C
ell(E2
9)_ne

W
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color
=red
Cell(E
30)_ol
d_all=
227272

(7777
<--Cel
1I(E27)
_new_
numbe
r=1
Cell(E
28)_ol
d_all=
?
(7777
<--Cel
1(E28)
_new_
numbe
r=2
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Cell(E
29) ol
d_all=
?
(7777
<--Cel
1(E29)
_new_
numbe
r=1
Cell(E
30)_ol
d_all=
?
(7777
<--Cel
1(E30)
_new_
numbe
r=not-
used=
0
skkok
Cell(E
27)_ol
d_all=
B
7777)
<--Cel
1(E27)
new

letters

=(b)
Cell(

Page 20/ 296




E28)_
old_all
=2(
7777)
<--Cel
1(E28)
_new_
letters
=(ad)
Cell(E
29) ol
d_all=
2
7777)
<--Cel
1(E29)
_new_
letters
=(c)
Cell(E
30)_ol
d_all=
2
7777)
<--Cel
1(E30)
_new_
letters
=not-u
sed=()
skkok
EXPT.
10

ksksk
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Cell(K
27)_ol
d_all=
22779

22779

)<--C
ell(K2
8)_ne
W_
color
=red
Cell(K
29) ol
d_all=
227272
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20777
) <--C
ell(K3
0)_ne
W_
color
=not-
used
skkok
Cell(K
27)_ol
d_all=
?
(7777
<--Cel
1(K27)
_new_
numbe
r=2
Cell(K
28)_ol
d_all=
?
(7777
<--Cel
1(K28)
_new_
numbe
r=1
Cell(K
29) ol
d_all=
?
(7777
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<--Cel
1(K29)
_new_
numbe
r=1
Cell(K
30)_ol
d_all=
?
(7777
<--Cel
1(K30)
_new_
numbe
r=not-
used=
0

skskesk
Cell(K
27)_ol
d_all=
2
7777)
<--Cel
1(K27)
_new_
letters
=(ab)
Cell(K
28)_ol
d_all=
2
7777)
<--Cel
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1(K28)
_New

letters
=(c)
Cell(K
29) ol
d_all=
2
7777)
<--Cel
1(K29)
_New

letters
=(d)
Cell(K
30)_ol
d_all=
I
7777)
<--Cel
1(K30)
_new_
letters
=not-u
sed=()
skskesk
EXPT.
11

skkok
Cell(Q
27)_ol
d_all=
22222

) <--C
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ell(Q2
T)_ne
W_
color
=red
Cell(Q
28)_ol
d_all=
27272

) <--C
ell(Q2
8)_ne
\

color

green
Cell(Q
29) ol
d_all=
27777
)<--C
ell(Q2
9)_ne
W_
color
=yello
w
Cell(Q
30)_ol
d_all=
20777
) <--C
ell(Q3
0)_ne
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W_
color
=not-
used
skkok
Cell(Q
27)_ol
d_all=
?
(7777
<--Cel
1(Q27)
_new_
numbe
r=1
Cell(Q
28)_ol
d_all=
?
(7777
<--Cel
1(Q28)
_new_
numbe
r=2
Cell(Q
29) ol
d_all=
?
(7777
<--Cel
1(Q29)
_new_
numbe
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r=1
Cell(Q
30)_ol
d_all=
?
(7777
<--Cel
1(Q30)
_new_
numbe
r=not-
used=
0

skskesk
Cell(Q
27)_ol
d_all=
2
7777)
<--Cel
1(Q27)
_New

letters
=(b)
Cell(Q
28)_ol
d_all=
I
7777)
<--Cel
1(Q28)
_new_

letters
=(ad)
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Cell(Q
29)_ol
d_all=
I
7777)
<--Cel
1(Q29)
_New

letters
=(c)
Cell(Q
30)_ol
d_all=
I
7777)
<--Cel
1(Q30)
_new_
letters
=not-u
sed=()
skskesk
EXPT.
12

ksksk

Cell(
W27)_
old_all
=2(77?
7 <--
Cell(
W27)_
new
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color
=yello
w
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(
W28)_
new

color

green
Cell(
W29)_
old_all
=2(77?
7 <--
Cell(
W29)_
new_
color
=blue
Cell(
W30)_
old_all
=2(77?
7 <--
Cell(
W30)_
new_

color
=not-
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used
kskesk
Cell(
W27)_
old_all
=7
(7777
<--Cel
(W27
)_new
_numb
er=1
Cell(
W28)_
old_all
=7
(7777
<--Cel
1I(W28
)_new
_numb
er=1
Cell(
W29)_
old_all
=7
(7777
<--Cel
I(W29
)_new
_numb
er=2
Cell(
W30)_
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old_all
=7
(7777
<--Cel
I(W30
)_new
_numb
er=not
-used=
0

skkok
Cell(
W27)_
old_all
=2(
7777)
<--Cel
1(W27
)_new
_letter
s=(a)
Cell(
W28)_
old_all
=2(
7777)
<--Cel
1I(W28
)_new
_letter
s=(b)
Cell(
W29)_
old_all
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=
7777)
<--Cel
1I(W29
)_new
_letter
s=(cd)
Cell(
W30)_
old_all
=
7777)
<--Cel
1I(W30
)_new
_letter
S=not-
used=(

)

ksksk

16496 (63498 |16496 |34004 |Laszl6 |17386 |17386 |1 Re: Argu |1 0 0 0 0 0 0 11 46
5 2 Pitlik (67616 |67616 Targy: |mentat
Re: Co|ion =
rrupte |there
d is no
logisti |green
c cube
robot |in the
set...

)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16496

63498

16496

34004

Laszl6
Pitlik

17386
67799

17386
67921

Re:
Targy:
Corru
pted
logisti
c
robot

There
is a lot
of pot
ential
errors
in the
solutio
ns for
#10-1
1-12
(c.f. ht
tps://m
iau.my
-x.hu/
miau/3
20/test
ing_ta
skl_g
uesses.
xIsx).
Please,
derive:
which
scenar
10s are
pros
and
which
scenar

41

325
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10s are
cons
for
each p
articul
ar solu
tion-
layer?
Please,
try to
answer
layer-b
y-
layer!
(e.g. E
XPT.1
O***C
ell(K2
7)_old
_all=2(
2777
<--Cel
1(K27)
_new_
color
=green
<--pro
s?7&
cons?)

Page 35/ 296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16496

63498

16496

46683

Bilegt
Gankh
uyag

17386
68356

17386
68356

Targy:
Re: Co
rrupte
d
logisti
c
robot

Each e
xperi
ment (
EXPT.
9, EX
PT.10,
etc.) ¢
ontain
s multi
ple
guesse
s ford
ifferen
tcellr
eferen
ces
(E27,
K27,
etc.),
with
three
key att
ributes

New
Color
(e.g.,
yellow
, blue,

126

808
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red)
New
Numb
er
(e.g.,
1,2,
0)
New
Letters
(e.g.,
(),
(b),

etc.)

Datae
ntry(E
XPT.9
):
INSE
RT
INTO
Guess
es (stu
dent_i
d, exp
erimen
t_id, la
yer_id,
cell_re
ferenc
e, old_
value,
new_c
olor, n
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ew_nu
mber,
new_|
etters,
timest
amp)
VALU
ES
(1,9,
L,
'E27',"
227272

)', 'yell
ow', 1,
'(b), C
URRE
NT_TI
MEST
AMP),
(1,9,
L,
'E28', "
)
'blue’,
2,
'(ad)’,
CURR
ENT_
TIME
STAM
P),
(1,9,
L,
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'E29',"
)
'red’,
1,'(c)
CURR
ENT_
TIME
STAM
P),
(1,9,
L,
'E30','
27777
)', 'not-
used’,
0,0,
CURR
ENT_
TIME
STAM
P);
Query
to find
the
"best s
tudent
SELE
CT stu
dent_1
d, CO
UNT(
*) AS
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correct
_guess
€s
FRO
M Eva
luation
S
WHE
RE
correct
=1
GRO
UpP
BY stu
dent_1
d
ORDE
R BY
correct
_guess
€s
DESC;

retriev
ing
guesse
s from
other e
xperi
ments:
SELE
CT *
FRO
M Gue
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sses W
HERE
experi
ment_1i
d=
10;(11
; etc.)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16496

63498

16496

44100

Laszl6
Pitlik

17386
72819

17386
72819

Targy:
Re: Co
rrupte
d
logisti
c
robot

It
would
be
nice to
see an
Excel-
demo
with at
least
one ap
propri
ate piv
ot-
output
to dem
onstrat
e the
power
of the
sugges
ted (se
emingl
y
robust
) data-
structu
re...

24

136
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16497

63498

16496

45293

Mark
Zsigm
ond
Lévai

17386
73240

17386
73262

Targy:
Re: Co
rrupte
d
logisti
c
robot

Colour
Layer:
bism
apped
to
green
while
there
1S no
green
Numb
er
Layer:
Seems
valid
if num
bers in
dicate
stacki
ng
height.
Letters
Layer:
No, d
ora
appear
s in
the
layer

[Sm—

85

953
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Which
solutio
n-layer
1s inco
rrect
and
why?

Colour
Layer:
unused
color
green
and
yellow

Letters
Layer:
Incons
istent
with
the nu
mber
layer.

Correc
t soluti
on
looks s
omethi
ng like
this:
skskesk
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Cell(E
27)_ol
d_all=
22779

27777
)<--C
ell(E2
8)_ne
w_col
our=bl
ue
Cell(E
29) ol
d_all=
227272

22779
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Cell(E
27)_ol
d_all=
27777
)<--C
ell(E2
T)_ne

w_nu

mber=
1
Cell(E
28)_ol
d_all=
227272

Cell(E
29)_ol
d_all=
22777
)<--C
ell(E2
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9)_ne
w_nu
mber=
1
Cell(E
30)_ol
d_all=
27777
)<--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skskesk
Cell(E
27)_ol
d_all=
27777
)<--C
ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
27777
)<--C
ell(E2
8)_ne
w_lett
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ers=(a
)
Cell(E
29)_ol
d_all=
227272

27777
)<--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=(d)

ksksk
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16497

63498

16496

47139

Benja
min
Honti

17386
74839

17386
74839

Targy:
Re: Co
rrupte
d
logisti
c
robot

Answe
ris:
Not co
rrect,
why?

Becau
se
Cell(E
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_col
our=gr
een,
this is
the
error,
becaus
e it
should
be
yellow
instead
of
green.

53

827
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Correc
t soluti
on
looks
like
this:

Kk

Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_col
our=bl
ue

Cell(E
29) ol
d_all=
27272

) <--C
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ell(E2
9)_ne
w_col
our=re
d
Cell(E
30)_ol
d_all=
207777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_nu
mber=
1
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
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w_nu
mber=
2
Cell(E
29) ol
d_all=
27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1
Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skkok
Cell(E
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_lett
ers=(b
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)
Cell(E
28)_ol
d_all=
207777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
d)

Cell(E
29)_ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0

Kk
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16497

63498

16496

47139

Benja
min
Honti

17386
75144

17386
75316

Targy:
Re: Co
rrupte
d
logisti
c
robot

If we
assum
e that
every
studen
t can
submit
unlimi
ted
guesse
s for
each e
xperi
ment,
scenar
10, and
solutio
n
layer,
we
need a
structu
red
and or
ganize
d way
to
store
this

273

1673
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data.
The
system
should
be
capabl
e of ha
ndling:

1.
Multi
ple st

s work
ing on
the
same p
roble
m.

2.
Multi
ple att
empts
per
studen
t for
each s
cenari
0.

3.
Differ
ent
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layers
of sol
utions
as stud
ents
refine
their u
nderst
anding
4.
Comp
arison
S
betwee
n
correct
and in
correct
answer
s to
track 1
earnin

g prog
ress.

Prop
osed S
torage
Struct
ure
We
can
use ad
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atabas
e table
to
store
the sol
utions
efficie
ntly.
Here
isasu
ggeste
d sche
ma:

Colum
n
Name
(Descr
iption)
Studen
t_ID (I
dentifi
es the
studen
t who
submit
ted the
answer
)
Experi
ment__
ID
(The e
xperi
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ment n
umber
(e.g.,
#9,
#10,
#11,
#12).)
Layer
_ID (R
eprese
nts the
Versio
nof a
studen
t’s solu
tion
for a
given
experi
ment.)
Timest
amp
(The
exact
date
and
time
of sub
missio
n
(helps
track p
rogres

S).)
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Input_
Data
(The
initial
setup
of cub
es/colo
IS
(e.g.,
a,b,c,
d with
specifi
¢ color
S).)
Gener
ated_
Output
_Data
(The st
udent's
propos
ed
output
(e.g.,
"2(ab),
1(c),
1(d)").
)
Correc
tness_
Status
(Whet
her the
answer
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is corr
ect, pa
rtially
correct
, Or InC
orrect.
)
Teach
er_Fee
dback
(Optio
nal
field
where
teache
rs can
give
hints
or expl
anatio
ns.)

How
This S
tructur
e
Helps?

1.

Allow
s unli
mited
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guesse
S —
Since
each
attemp
tis
stored
with a
unique
Layer
_ID, st
udents
can
refine
their s
olution
S
withou
t over
writin
g previ
ous att
empts.
2.
Suppo
rts col
labora
tion —
If stud
ents co
mpare
their
Gener
ated_
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Output
_Data
with
peers,
they
can
learn
from
each
other’s
mistak
es.

3.
Provi
desal
earnin
g time
line —
With t
imesta
mps,
we can
track
wheth
er stud
ents i
mprov
e over
time.
4,
Facilit
ates a
utoma
ted ev
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aluati
on —
The
system
can au
tomati
cally ¢
ompar
e Gene
rated_
Output
_Data
with
correct
pattern
s and
mark ¢
orrect
ness (
Correc
t, Inco
rrect,
Partial
).
5.
Helps
teache
rs ana
lyze ¢
ommo
n mist
akes —
If
many s
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tudent
s make
the
same
error,
the
teache
r can
adjust
explan
ations
accord

ingly.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16497

63498

16497

34004

Laszl6
Pitlik

17387
02846

17387
02846

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

It
would
also be
nice to
see an
Excel-
demo
with at
least
one ap
propri
ate piv
ot-
output
to dem
onstrat
e the
power
of the
sugges
ted (se
emingl
y
robust
) data-
structu
re... (R
emark:
Ina

71

374
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final
thesis,
if texts
are int
egrate
d into
the
own d
ocume
nts,
but
they
come
from c
onvers
ations
with
the Ch
atGPT
/Copil
ot/etc.
-itis
always
necess
ary to
use qu
otation
signs
and
the
source
must
also be
define
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d. A pl
agiat-p
roble
m is
the
last,
what s
omebo
dy do
need...
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16497

63498

16497

34004

Laszl6
Pitlik

17387
02987

17387
02987

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

If this
solutio
n (for
scenar
10 #9)
will be
accept
edasa
fact (si
milar
to the
scenar
i0s #1-
2-3-4-
5-6-7-
8, are
we
alread
y prep
ared to
solve
the pr
oblem
S prese
nted in
scenar
10s #1
0-11-1
27

[Sm—

29

157
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16498

63498

16495

34004

Laszl6
Pitlik

17387
42138

17387
42138

Re: Co
rrupte
d
logisti
c
robot

Please,
try to
declar
e pote
ntial
rules
based
on the
TESTI
NG_T
ASK1.
XLSX
!
Rule#
1:
Based
on the
scenar
108 #4-
5-6-7-
8:
green
towers
of
cubes
will co
nseque
ntly be
built

102

516
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on the
place-
id "A".
Rule#i
: (your
turns
in new
entries
below)
(Based
ona
lot of
these
partial
rules,
we
have
to
derive
the "h
ermen
eutic
trap"
create
d for
your
in this
task!)
(This
task is
a kind
of
magic
perfor
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mance
where
your
mind
will be
influe
nced
to thin
k/to
see in
an irra
tional
way...)
(You
have
the ne
cessar
y
details
to be
capabl
eof in
terpret
ing the
entire
system
correct
ly, but
one di
sturbin
g impu
Ise is
presen
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t-
even
in mul
tiply ¢
opies..
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16498

63498

16497

47139

Benja
min
Honti

17387
49589

17387
49718

Targy:
Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

In the
excel
file,
yellow
and
green
are
always
in the
first
place,
maybe
it's not
a coin
cidenc
e?

maybe
they
are
related
in
some
way, b
ecause
then
how
could
you

81

352
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decide
what
the
order
will be
in #10
#11
#127

yellow
and
green
never
met
before
the
#10.

In addi
tion, it
was
writte
n "acci
dentall
y" that
there
18
green
instead
of
yellow
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Anywa
y, my
first
answer
to #9
1s what
I
wrote,
but it's
going
to be
more ¢
omplic
ated
than
we
think.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16498

63498

16498

47139

Benja
min
Honti

17387
50193

17387
50193

Targy:
Re: Co
rrupte
d
logisti
c
robot

The
rules
are:

The
system
isa
"Black
Box"
that pr
oduces
an
output
accord
ing to
specifi
c rules

The co
lumns
contai
n diffe
rent
input
values
(Input
X)
(e.g. a,
b, c,

155

690
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d).

The
output
sare o
rganiz
ed acc
ording
to
certain
rules,
arrangi
ng the
colore
d
cubes
in
towers

(Green
and
yellow
in 1st
place,
blue in
2nd
place
and
finally
red in
3rd
place)

Their
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shape
looks
like
this ?(
777,
the
falling
questi
on
mark
is repl
aced
by
how
many
pieces
of the
given
color
are
found
Gf
there
are
more
pieces,
then
by def
inition
there
will
not be
1 but
more
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than 1,
this
can
also be
seen in
the
robot
video,
becaus
e it
stacks
the
cubes
of the
same
color
on top
of
each
other.
The qu
estion
marks
in the
bracke
ts indi
cate
which
letters
are ass
igned
to the
given
color.
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And
the
task is
to
answer
#9 #10
#11
#12
and
write s
omethi
ng
instead
of the
many
questi
on
marks.

16498

63498

16498

44100

Laszl6
Pitlik

17387
53707

17387
53707

Targy:
Re:
Targy:
Re: Co
rrupte
d
logisti
c

robot

Excell

ent int

erpreta
tions!
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16498

63498

16498

44100

Laszl6
Pitlik

17387
54101

17387
54101

Targy:
Re: Co
rrupte
d
logisti
c
robot

Reco
mmen
dation
for
this
task:
the
rules
should
be for
mulate
d as
simple
as poss
ible!
Long
text
stream
s do
not
really
have a
clear s
tructur
e. The
rules
are
correct
formul

45

228
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ated,
if they
can be
transfo
rmed
into
source
codes
by all
of you
withou
tanyc
omlica
tions
(cf.K
nuth)..
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16498

63498

16495

46675

Shagai
Turtog
tokh

17387
65110

17387
65110

Re: Co
rrupte
d
logisti
c
robot

The
genera
1 requi
rement
of the
black
box
system
in this
case is
to sort
colore
d
blocks
into 4
slots
(A, B,
C, D).
Each
slot
should
hold
blocks
of one
color
only.

The Pr

259

1294
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oblem
is hap
pening
in scen
arios
#4,
#9-12;
the
system
makes
a mist
ake: it
assigns
the
color
green
to slot
Ain
the
curren
t logic.
Howe
ver,
slot A
was
alread
y assig
ned to
the
color
yellow
in scen
ario#1
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This
mix-
up
(green
and
yellow
in slot
A)
breaks
the
rule of
“one
color
per
slot.”
The
system
can’t
stack
blocks
correct
ly bec
ause
of this
conflic
t.

Exam
ple:

In Exp
erimen
t#2 (S
cenari
0#9),
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the
system
mistak
enly
places
a
yellow
block
in slot
A. Ho
wever,
in Sce
nario
#5,a
green
block
1S
placed
in the
same
slot A.
This in
consist
ency
causes
multip
le
colors
to be
stacke
din
one co
lumn,
leadin
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gto
sorting
errors.

>>>>
The de
tailed
solutio
n for s
cenari
os #9-
12 and
the cor
rected
logic
on exp
erimen
t#1 are
in the
attach
ed EX
CEL
file.

The
issue
is that
two di
fferent
colors
are
being
assign
edtoa
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single
placeh
older,
which
indicat
esa
flaw in
the sys
tem's
logic.
This
may
be due
to outd
ated
interna
I softw
are or
a malf
unctio
ning
Sensor.
Additi
onally,
the
color r
ecogni
tion al
gorith
m
might
not be
workin

g prop
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erly.

Furthe
T possi
ble ex
perime
nts:

By
adding
more
colors
and pl
acehol
ders to
give
more r
andom
ized
inputs
to test
the per
forma
nce
with
the
correct
logic.

Testin
g color
recogn
ition al
gorith
mbyr
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eal-
time
monit
oring.

Instea
d of
RGB,
we can
use
HSV
for mu
Iti-dim
ension
al
color a
nalysis
.Inrea
I-life s
cenari
0s, it
18
crucial
to iden
tify
items
withou
t any
mistak
es In
any co
nditio
n.

Page 90 / 296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16498

63498

16498

34004

Laszl6
Pitlik

17387
71398

17387
71398

Re: Co
rrupte
d
logisti
c
robot

Excell
ent
focus
points
can be
found
in the
above-
presen
ted int
erpreta
tion.
BUT
the
offere
d xlsx-
Versio
nis
still in
the her
meneu
tical
trap it
means,
the sol
ution
can
not be
accept

[Sm—

167

939
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ed.
The ab
ove-
listed
conclu
sions
are
more ¢
omple
X, than
the
reality
1s. :-)
Detail
ed arg
ument
ation:
GREE
N
towers
may
not
built e
veryw
her,
only
on the
slot/pl
ace-id
"A":
the
initial
scenar
10s (#1
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-2-3-4
-5-6-7
-8)
presen
t clear
examp
les:
green
cubes
must
be to
slot
"A".
We do
not
have
other "
nstruc
tion"
and
the ins
tructio
ns
(rules)
MUST
BE FO
LLO
WED:
a soft
ware
do
make
each
step
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based
on pre
defini
ed
rules.
We
are sea
rching
for
such
an inte
rpretat
ion for
the bla
ck-box
-syste
m,
where
EACH
previo
us rule
18
valid
for
ever.
It is fo
rbidde
nto cr
eate/as
sume
hidden
rules,
which
are
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given,
but the
impact
s of
these
hidden
rules
could
still
not be
observ
ed.
More
observ
ations/
scenar
10s are
not
neede
dtoin
terpret
the
black
box
system
asave
ry-ver
y-
simple
white-
box-sy
stem.
We
have h
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oweve
rto
ignore
the
very i
mpuls
e
leadin
gto
the her
meneu
tical tr
apping
... The
interpr
etation
above
did
alread
y highl
ight
this se
nsitive
point...

-)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16498

34004

Laszl6
Pitlik

17387
72676

17387
72676

Re: Co
rrupte
d
logisti
c
robot

Sub-
task
helpin
gto
focus
correct
ly:
Which
senten
ceis
the
most r
elevan
t?
here: h
ttps://
moodl
e.kodo
lanyi.h
u/mod
/forum
/discus
s.php?
d=634
98#pl
64988

13

133
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16498

34004

Laszl6
Pitlik

17387
72774

17387
72774

Re: Co
rrupte
d
logisti
c
robot

Sub-
task
helpin
gto
focus
correct
ly:
Which
rules (
comin
g from
scenar
i0s #1-
2-3-4-
5-6-7-
8are d
efinite
ly not
follow
ed?
here in
case
of sce
narios
#10-1
1-12:
https://
moodl
e.kodo

22

253
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lanyi.h
u/plugi
nfile.p
hp/444
T74/m
od_for
um/att
achme
nt/164
088/te
sting_t
askl
Shagai
XIsx?f
orcedo
wnloa
d=1

Page 99 / 296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16496

46674

Boldsu
kh Ga
nzorig

17387
86168

17387
86168

Re: Co
rrupte
d
logisti
c
robot

Basic
questi
on
answer
:Notc
orrect.

WHY
?

In Exp
erimen
t#1, Sc
enario
#9,
there
is not
any
green
colour
in "Inp
ut9" ¢
olumn,
which
makes
first so
lution
layer
wrong
(Cell(

58

869
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E27)_
old_all
=2(77?
7 <--
Cell(E
27)_ne
w_col
our=gr
een).

The
correct
answer
18

skkok
Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_col
our=bl
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ue
Cell(E
29) ol
d_all=
207777
) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_nu
mber=
1
Cell(E
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28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
w_nu
mber=
2
Cell(E
29) ol
d_all=
27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1
Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skkok
Cell(E
27)_ol
d_all=
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20777
) <--C
ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
207777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
d)

Cell(E
29)_ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(E
30)_ol
d_all=
20777
)<--C
ell(E3
0)_ne
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w_lett
ers=no
t-used

Kk

Page 105 /296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif | maile
ied d

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16496

46677

Ganba
t Baya
nmunk

17387
87075

17387 |1
87191

Re: Co
rrupte
d
logisti
c
robot

Basic
questi
on
answer
is inco
rrect.
why?
there
1S no
green.
Experi
ment#
1 Scen
ario#9
Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(E
28)_ol
d_all=
27272

) <--C

119

2721
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ell(E2
8)_ne
w_col
our=bl
ue
Cell(E
29) ol
d_all=
207777
) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
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w_nu
mber=
1
Cell(E
28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
w_nu
mber=
2

Cell(E
29) ol
d_all=
27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1

Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0

Page 108 /296




kg

Cell(E
27)_ol
d_all=
207777
) <--C
ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
d)

Cell(E
29)_ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(E
30)_ol
d_all=
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20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0

Scenar
10#10
Cell(K
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(K
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_col
our=gr
een

Cell(K
29) ol
d_all=
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20777
) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(K
30)_ol
d_all=
207777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(K
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_nu
mber=
1
Cell(K
28)_ol
d_all=
27272

) <--C
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ell(E2
8)_ne
w_nu
mber=
2
Cell(K
29) ol
d_all=
27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1
Cell(K
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skkok
Cell(K
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
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w_lett
ers=(d
)
Cell(K
28)_ol
d_all=
207777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
b)

Cell(K
29)_ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(K
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0
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Scenar
io#11

Cell(Q
27)_ol
d_all=
27272

) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(Q
28)_ol
d_all=
27272

) <--C
ell(E2
8)_ne
w_col
our=gr
een
Cell(Q
29) ol
d_all=
27272

) <--C
ell(E2
9)_ne
w_col
our=re
d

Cell(Q
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30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(Q
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_nu
mber=
1
Cell(Q
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_nu
mber=
2
Cell(Q
29) ol
d_all=
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27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1
Cell(Q
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0

skkok

Cell(Q
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_lett
ers=(c
)
Cell(Q
28)_ol
d_all=
22222

) <--C
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ell(E2
8)_ne
w_lett
ers=(a
d)

Cell(Q
29) ol
d_all=
207777
) <--C
ell(E2
9)_ne
w_lett
ers=(b
)
Cell(Q
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0

Scenar
i0#12
Cell(
W27)_
old_all
=2(77?
7 <--
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Cell(E
27)_ne
w_col
our=y
ellow
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(E
28)_ne
w_col
our=bl
ue
Cell(
W29)_
old_all
=2(77?
7 <--
Cell(E
29)_ne
w_col
our=gr
een
Cell(
W30)_
old_all
=2077?
7 <--
Cell(E
30)_ne
w_col
our=n
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used
skksk
Cell(
W27)_
old_all
=2(77?
7 <--
Cell(E
27)_ne
w_nu
mber=

Cell(
W28)_
old_all
=2(77?
7 <--
Cell(E
28)_ne
w_nu
mber=

Cell(
W29)_
old_all
=2(77?
7 <--
Cell(E
29)_ne
w_nu
mber=

Cell(
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W30)_
old_all
=2(77?
7 <--
Cell(E
30)_ne
w_nu
mber=
not-us
ed=0
skkok
Cell(
W27)_
old_all
=2(77?
7 <--
Cell(E
27)_ne
w_lett
ers=(a
)
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(E
28)_ne
w_lett
ers=(c
d)
Cell(
W29)_
old_all
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=2(77?
7 <--

Cell(E
29)_ne
w_lett
ers=(b

Cell(
W30)_
old_all
=2(77?
7 <--
Cell(E
30)_ne
w_lett
ers=no
t-used
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id |discus | paren |userid |userfu | create | modif | maile |subjec| messa | messa | messa | attach | totalsc | mailn | delete | privat | privat | wordc | charc
sion t llnam d ied d t ge | gefor |getrus| ment | ore ow d |ereply|ereply| ount | ount
e mat t to | tofull
name
16499 (63498 | 16496 |46671 |Ariun |17387 |17387 |1 Re: Co 1 0 0 0 0 0 0 102 978
4 0 bold |88178 |88178 rrupte
Munk d
hjargal logisti

c

robot |In Sce
nario #
9 (Exp
erimen
t#1),
the
input
is:
Since
there
1S no
green
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cube
in the
input,
there
1S no
doubt
that
green
should
not
appear
as the
first
output
in this
Scenar
i0. In
other
words,
with
no
green
presen
t, the
only p
ossible
color
for the
first
output
(cell
E27)
1S
yellow
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this
time.

The
correct
solutio
nis:

Color
Layer

Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_col
our=bl
ue

Cell(E
29) ol
d_all=
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) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(E
30)_ol
d_all=
207777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used

27779

Numb
er
Layer

Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_nu
mber=
1

Cell(E
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28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
w_nu
mber=
2

Cell(E
29) ol
d_all=
27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1

Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us

ed=0

Letter
S
Layer
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Cell(E
27)_ol
d_all=
207777
) <--C
ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
d)

Cell(E
29)_ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(E
30)_ol
d_all=
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20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16499

34004

Laszl6
Pitlik

17387
89770

17387
89770

Re: Co
rrupte
d
logisti
c
robot

Is this
scenar
10 (#9)
with
the ab
ove-m
ention
ed
correct
solutio
n arel
evant i
nform
ation
unit
for the
further
cases?
(scena
rios #1
0-11-1
2)

[Sm—

19

118
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16499

34004

Laszl6
Pitlik

17387
89992

17387
89992

Re: Co
rrupte
d
logisti
c
robot

Unfort
unatel
Yy,
these s
olution
s for
the sce
narios
#10-1
1-12
are not
accept
able:
e.g. be
cause
of the
5-time
s decla
red
rule
(see sc
enario
s #4-5-
6-7-8):
green
cubes
must d
efinite
ly be

[Sm—

37

205
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placed
to spot
"A"
Each
rule
must
be foll
owed
in any
rate...

16499 (63498 (16499 |34004 |Laszl6 |17387 [17387 |1 Re: Co|Is this |1 0 0 0 0 0 0 13 91
7 4 Pitlik {90143 [90143 rrupte |correct
d -interp
logisti |reted s
c cenari
robot |o (#9)
helpfu
I for
the
further
(unsol
ved) s
cenari
os (see
#10-1
1-12)?
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16496

46668

Amin-
Erden
e Ank
hbold

17387
92048

17387
92048

Targy:
Re: Co
rrupte
d
logisti
c
robot

Answe
r for
basic q
uestio
n: WR
ONG

There
1S no
green,
instead
we
have
yellow
, blue
and
red
colors.
Accor
ding to
the
other s
cenari
08,
when
there
1S no
green,
yellow

67

850
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takes
place
A, in
this
case C
ell(E2
7). So,
correct
answer
would
looks
like:

Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_col
our=bl
ue

Cell(E
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29) ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(E
27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_nu
mber=
1
Cell(E
28)_ol
d_all=
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27777
) <--C
ell(E2
8)_ne
w_nu
mber=
2
Cell(E
29) ol
d_all=
27777
) <--C
ell(E2
9)_ne
w_nu
mber=
1
Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skkok
Cell(E
27)_ol
d_all=
22222

) <--C
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ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
207777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
)
Cell(E
29)_ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
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sl PP
=(d)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16499

63498

16498

46666

Battug
uldur
Tuyats
etseg

17387
92491

17387
92762

Re: Co
rrupte
d
logisti
c
robot

IF
green
is excl
usive
to ID
A. The
refore,
yellow
cannot
appear
on ID
A.

If the
first te
st/scen
ario

shows
yellow
on ID
A, it
must
be an
error
orane
xcepti
on that
needs

57

237

Page 138 /296




to be ¢
orrecte
d.

By rep
lacing
yellow
with
green
on ID
A and
assigni
ng
yellow
to ID
D, we
ensure
that all
rules
are fol
lowed.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16498

46668

Amin-
Erden
e Ank
hbold

17387
92907

17387
92907

Targy:
Re: Co
rrupte
d
logisti
c
robot

Rules
based
on obs
ervatio
non
the TE
STIN
G_TA
SK1.X
LSX
and
logisti
C
robot's
demo
video:

Rule#
1: The
robot
will
pick
one
cube
ata
time.
Rule#
2: The
robot

81

377
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will
only
pick
the
cubes
in the
given
order.
Rule#
3:
Based
on the
scenar
10s, G
REEN
cubes
built
on pla
ce-id
A"
BLUE
cubes
on pla
ce-id
g
and
RED
cubes
build
on pla
ce-id
"C".
Rule#
4.
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Based
on the
scenar
10 #1
and sc
enario
#9 of
the ex
perime
nt #2
tables
YELL
ow
cubes
will
build a
tower
on the
place-
id "A".
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16499

46674

Boldsu
kh Ga
nzorig

17387
93186

17387
93186

Re: Co
rrupte
d
logisti
c
robot

In the
rules 4
to 8 sc
enario,
GREE
N
cube
must
be
placed
to spot
"A".
BLUE
cube
must
be
placed
to spot
B,
RED
cube
must
be
placed
to spot
"C" ac
cordin
gto
the

247

2689
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rule 2
to 8.
Each
spot
alread
y occu
pied
by the
cubes
except
YELL
ow
cube.
Logica
lly, A
for G
REEN
, B for
BLUE
, C for
RED
and
there
1S one
spot
that
empty.
Howe
ver,
The
rule of
scenar
i0l,Y
ELLO
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W
cubes
must
be on
spot
"A", if
YELL
ow
cube
meet
GREE
N
cube,
Rule 1
cannot
be foll
owed
due to
Rule
4-8 sc
enario.
So, if
GREE
N
cube
and Y
ELLO
W
cubes
match
ed, G
REEN
one
MUST
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be on
spot
N
and Y
ELLO
W one
cannot
be on
neither
"B
nor
e
spots,
becaus
e of
Rule
2-8 sc
enario
they
are
alread
y occu
pied
by
BLUE
and
RED
cubes.
Finally
there
1S
single
spot
that
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empty
is "D"
and
we can
put Y
ELLO
W
cube
to the
spot
"D".

Experi
ment#
1, Sce
nario#
10,11,
12 ans
WErS a
ccordi
ng to
the
rules.

Experi
ment#
1 Scen
ario#1
0

Cell(K
27)_ol
d_all=
22222

) <--C
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ell(K2
T)_ne
w_col
our=gr
een
Cell(K
28)_ol
d_all=
207777
) <--C
ell(K2
8)_ne
w_col
our=n
ot-
used
Cell(K
29) ol
d_all=
27777
)<--C
ell(K2
9)_ne
w_col
our=re
d
Cell(K
30)_ol
d_all=
27777
)<--C
ell(K3
0)_ne
w_col
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our=y

ellow
sksksk

Cell(K
27)_ol
d_all=
27777
) <--C
ell(K2
T)_ne
w_nu
mber=
2
Cell(K
28)_ol
d_all=
27777
) <--C
ell(K2
8)_ne
w_nu
mber=
not-us
ed=0
Cell(K
29) ol
d_all=
27272
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Cell(K
30)_ol
d_all=
22779

Cell(K
27)_ol
d_all=
20777
) <--C
ell(K2
T)_ne
w_lett
ers=(a
b)

Cell(K
28)_ol
d_all=
20777
) <--C
ell(K2
8)_ne
w_lett
ers=no
t-used
=0

Cell(K
29) ol
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d_all=
27777
)<--C
ell(K2
9)_ne
w_lett
ers=(c
)
Cell(K
30)_ol
d_all=
27777
)<--C
ell(K3
0)_ne

w_lett
ers=(d

)

Kk

Scenar
io#l1
skskesk
Cell(Q
27)_ol
d_all=
27777
)<--C
ell(Q2
T)_ne
w_col
our=gr
een
Cell(Q
28)_ol
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d_all=
20777
)<--C
ell(Q2
8)_ne
w_col
our=n
ot-
used
Cell(Q
29) ol
d_all=
20777
) <--C
ell(Q2
9)_ne
w_col
our=re
d
Cell(Q
30)_ol
d_all=
20777
) <--C
ell(Q3
0)_ne
w_col
our=y
ellow
skskesk
Cell(Q
27)_ol
d_all=
227272

Page 152 /296




)<--C
ell(Q2
T)_ne
w_nu
mber=
2
Cell(Q
28)_ol
d_all=
27777
)<--C
ell(Q2
8)_ne
w_nu
mber=
not-us
ed=0
Cell(Q
29) ol
d_all=
27777
) <--C
ell(Q2
9)_ne
w_nu
mber=
1
Cell(Q
30)_ol
d_all=
27777
) <--C
ell(Q3
0)_ne
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w_nu
mber=
1
kskesk
Cell(Q
27)_ol
d_all=
27777
)<--C
ell(Q2
T)_ne
w_lett
ers=(a
d)
Cell(Q
28)_ol
d_all=
227272

20777
) <--C
ell(Q2
9)_ne
w_lett

ers=(b
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)
Cell(Q
30)_ol
d_all=
207777
) <--C
ell(Q3
0)_ne
w_lett
ers=(c

)

ksksk

Scenar
i0#12
skkok
Cell(
W27)_
old_all
=7(77?
?7) <--
Cell(
W27)_
new_c
olour=
green
Cell(
W28)_
old_all
=7(77?
7 <--
Cell(
W28)_
new_c
olour=
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blue
Cell(
W29)_
old_all
=2(77?
7 <--
Cell(
W29)_
new_c
olour=
not-
used
Cell(
W30)_
old_all
=2(77?
7 <--
Cell(
W30)_
new_c
olour=

yellow
Kskok

Cell(
W27)_
old_all
=7(77?
7 <--
Cell(
W27)_
new_n
umber
=1
Cell(
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W28)_
old_all
=7(77?
7 <--

Cell(

W28)_
new_n
umber

Cell(
W29)_
old_all
=2(77?
7 <--
Cell(
W29)_
new_n
umber
=not-u
sed=0
Cell(
W30)_
old_all
=2(77?
7 <--
Cell(
W30)_
new_n
umber
=1

skkok
Cell(
W27)_
old_all

Page 157 /296




=2(77?
7 <--
Cell(
W27)_
new_|
etters=
(b)
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(
W28)_
new_|
etters=
(cd)
Cell(
W29)_
old_all
=2(77?
7 <--
Cell(
W29)_
new_|
etters=
not-us
ed=()
Cell(
W30)_
old_all
=277
7 <--
Cell(
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W30)_
new_l
etters=

(@)

Kk
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16499

46666

Battug
uldur
Tuyats
etseg

17387
93528

17387
94005

Re: Co
rrupte
d
logisti
c
robot

Green
is excl
usive
to ID
A for
smalle
r
towers
(1-3
cubes)

Yello
W 18 ex
clusive
to ID
A for
larger
towers
4
cubes)
when
all
inputs
are the
same
color.

This

130

528
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means:

If the
input
cubes
are dif
ferent
colors,
the
system
builds
smalle
r
towers
, and
green
is used
for ID
A.

If the
input
cubes
are the
same
color,
the
system
builds
larger
towers
, and
yellow
is used
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for ID
A.

Since
IDs
can
only
have
one
colore
d
tower
ata
time,
the
system
must
choose
betwee
n
green
and
yellow
based
on the
input
colors.

If the
inputs
are dif
ferent
colors,
use
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green
for ID
A.

If the
inputs
are the
same
color,
use
yellow
for ID
A.

Or
yellow
is on
ID A
if
there
no
green
in
input
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16500

46668

Amin-
Erden
e Ank
hbold

17387
93583

17387
93583

Targy:
Re: Co
rrupte
d
logisti
c
robot

Based
on the
above
rules
that I
have
drawn
from
my ob
servati
ons, I
solved
the sce
narios
#10,
#11
and
#12

20

85
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16499

46677

Ganba
t Baya
nmunk

17387
94157

17387
94157

Re: Co
rrupte
d
logisti
c
robot

So, If
yellow
and
green
must
be
placed
to spot
N
for ex
ample
experi
ment#
1 scen
ariol -
8 and
experi
ment#
2 scen
ario
1-8,
So
both
of
them
must
be
placed
to spot

142

2346
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"A".
Can
we
stack
green
and
yellow
on
spot
"A", a
ccordi
ng to
the
rules it
does
not
break
any
rules,
there
is not
rules
about
2 diffe
rent
colors
cannot
stack
on
each
other.
Scenar
10#10
Cell(K
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27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=gr
een,ye
llow
Cell(K
28)_ol
d_all=
27777
)<--C
ell(E2
8)_ne
w_col
our=n
ot-
used
Cell(K
29) ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(K
30)_ol
d_all=
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27777
) <--C
ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(K
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_nu
mber=
3
Cell(K
28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
w_nu
mber=
not-us
ed=0
Cell(K
29) ol
d_all=
27272
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Cell(K
30)_ol
d_all=
27777
)<--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skskesk
Cell(K
27)_ol
d_all=
227272

27777

) <--C
ell(E2
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8)_ne
w_lett
ers=no
t-used
=0

Cell(K
29) ol
d_all=
207777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(K
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0

Scenar
io#l1

Cell(Q
27)_ol
d_all=
27272

) <--C
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ell(E2
T)_ne
w_col
our=gr
een,ye
llow
Cell(Q
28)_ol
d_all=
27777
)<--C
ell(E2
8)_ne
w_col
our=n
ot-
used
Cell(Q
29) ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_col
our=re
d
Cell(Q
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
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w_col
our=n
ot-
used
skkok
Cell(Q
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_nu
mber=
3
Cell(Q
28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
w_nu
mber=
not-us
ed=0
Cell(Q
29) ol
d_all=
27777
)<--C
ell(E2
9)_ne

w_nu
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mber=
1
Cell(Q
30)_ol
d_all=
227272

ksksk

Cell(Q
27)_ol
d_all=
27777
)<--C
ell(E2
T)_ne
w_lett
ers=(a
cd)
Cell(Q
28)_ol
d_all=
227272
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=0

Cell(Q
29) ol
d_all=
207777
) <--C
ell(E2
9)_ne
w_lett
ers=(b
)
Cell(Q
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0

Scenar
i0#12
Cell(
W27)_
old_all
=2077?
7 <--
Cell(E
27)_ne
w_col
our=y
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ellow,
green
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(E
28)_ne
w_col
our=bl
ue
Cell(
W29)_
old_all
=2(77?
7 <--
Cell(E
29)_ne
w_col
our=n
ot-
used
Cell(
W30)_
old_all
=2077?
7 <--
Cell(E
30)_ne
w_col
our=n
ot-
used
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kg

Cell(
W27)_
old_all
=2(77?
7 <--
Cell(E
27)_ne
w_nu
mber=

Cell(
W28)_
old_all
=2(77?
7 <--
Cell(E
28)_ne
w_nu
mber=

Cell(
W29)_
old_all
=2(77?
7 <--
Cell(E
29)_ne
w_nu
mber=
not-us
ed=0
Cell(
W30)_
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old_all
=2(77?
7 <--
Cell(E
30)_ne
w_nu
mber=
not-us
ed=0
kskesk
Cell(
W27)_
old_all
=2(77?
7 <--
Cell(E
27)_ne
w_lett
ers=(a
b)
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(E
28)_ne
w_lett
ers=(c
d)
Cell(
W29)_

old_all
=2(77?
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7 <--

Cell(E
29)_ne
w_lett
ers=no
t-used

Cell(
W30)_
old_all
=2(77?
7 <--
Cell(E
30)_ne
w_lett
ers=no
t-used
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16496

46680

Zanda
ngarav
Nyam
baatar

17387
94437

17387
94437

Targy:
Re: Co
rrupte
d
logisti
c
robot

Itis
correct
except
for the
first
row.
We
don't
have a
green
cube,
SO
green
which
is in
the
first
row
should
be repl
aced
with
yellow

Cell(E
27)_ol
d_all=
?

60

321
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(7777
<--Ce
1(E27)
_new_
color

yellow
Cell(E
28)_ol
d_all =
?
(7777
<--Ce
I(E28)
_new
color
= blue
Cell(E
29) ol
d_all =
?
(7777
<--Ce
I(E29)
_new_
color
=red
Cell(E
30)_ol
d_all =
?
(7777
<--Ce
II(E30)
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_new_
color
= not
used.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16499

34004

Laszl6
Pitlik

17388
24484

17388
24484

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

Cell(E
30)_ol
d_all=
22772

--Why
is this
particu
lar def
inition
wrong
?
Please,
deliver
argum
entatio
ns
based
on the
entire
docum
entatio
n

[Sm—

17

162
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| here! |
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16499

34004

Laszl6
Pitlik

17388
24831

17388
24831

Re: Co
rrupte
d
logisti
c
robot

IF
green
is excl
usive
to ID
A. The
refore,
yellow
cannot
appear
on ID
A<t
his dec
laratio
nis
wrong,
if each
scenar
io (#1-
2-3-4-
5-6-7-
8) and
its
results
should
be acc
epted
for
ever!

93

453
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Yello
\
cubes
do
appear
in ID
A (see
scenar
io #1).
<--The
re is
no
error,
there
isSnoe
xcepti
on!
The
facts (
scenar
i0s #1-
2-3-4-
5-6-7-
8)
must
be acc
epted
as
facts.
The
ancien
tand u
nfortu
natelly
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the mo
dern s
cience
"try to
interpr
et the
world
SO,
that a
lot of
facts
are ex
cluded
in
order
to
have a
nive th
erory..
L)
But
this
proces
S 1S not
to
follow
in gen
eral...
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16500

63498

16500

34004

Laszl6
Pitlik

17388
26621

17388
26621

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

Rule#
1-2 =
logisti
c rule
and
not a
logical
rule
about
the
proces
s logic
behing
the log
istic...
Rule#
3=it
1S
more
rules p
arallel:
#3a
for
green
cubes,
#3b
for
blue
cubes,

84

422
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#3c
for red
cubes,
BUT
the
#3b
and
#3c
are
more
strong
than
#3a!
Why?
Please,
use the
mirror
ing tec
hnique
:the o
pposit
e decla
ration
should
also be
interpr
eted
(e.g.
there
are po
sitive s
cenari
os for
#3b
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and
there
1SNo s
cenari
o with
opposi
te con
clusio
ns/risk
potenti
als)...
(Exper
iment
#2 1s
in this
mome
nt
quasi
still
not exi
sting:-

)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16500

34004

Laszl6
Pitlik

17388
27197

17388
27197

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

https://
moodl
e.kodo
lanyi.h
u/plugi
nfile.p
hp/444
T74/m
od_for
um/att
achme
nt/165
003/te
sting_t
ask1%
20-%2
0Amin
-Erden
e.xlsx?
forced
ownlo
ad=1
<--W
OoOwW!

+
https://
moodl
e.kodo
lanyi.h

80

688
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u/mod
/forum
/discus
s.php?
d=634
98#pl
64988
<-- see
first se
ntence
(Each
slot
should
hold
blocks
of one
color o
nly.)<-
-Impor
tant de
clarion
- but
true or
wrong
compa
red of
the ab
ove-hi
ghlight
ed W
OW-X
LSX?
Who
18
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finally
capabl
e of
seeing
the ex
pected
compl
exity
with
the ex
pected
clarity
2
What
is the
herme
neutic
al trap
in the
definit
ion of
this
task
(see: h
ttps://
moodl
e.kodo
lanyi.h
u/mod
/forum
/discus
s.php?
d=634
98#pl
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64960

)
(B
W:
such
kind
of
logical
constr
uction
s will
later
be nec
essary,
when
you
are
writin
g the
final
thesis,
especi
ally
the
chapte
r about
the lite
rature
behind
your t
hesis-t
itle...))
)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16500

34004

Laszl6
Pitlik

17388
27472

17388
27472

Re: Co
rrupte
d
logisti
c
robot

if YE
LLO
W
cube
meet
GREE
N
cube,
Rule 1
cannot
be foll
owed
due to
Rule
4-8 sc
enario.
<__
wrong
associ
ation
(wron
g solut
ions
for #1
0-11-1
2).
See: ht
tps://m
oodle.

35

231
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kodola
nyi.hu/
mod/f
orum/
discus
s.php?
d=634
98#pl
65010
The
rule of
the sce
nario#
1 must
be foll
owed
for
ever...
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16500

34004

Laszl6
Pitlik

17388
27751

17388
27751

Re: Co
rrupte
d
logisti
c
robot

Interes
ting ap
proach
: but it
can
not be
accept
ed!
The
robot
does
not
have
any inf
ormati
on
units
about
ALL
cubes
before
startin
g with
the to
wer-bu
ilding-
proces
s! The
count

[Sm—

82

397
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of the
cubes
having
the
same
colour
is an i
nform
ation
unit,
but
never
existin
gin
this
system
-Wwe o
bserve
rs can
interpr
et such
a phen
onemo
n
(count
)-
later
(after
closing
a scen
ario).
The
robot
will
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never
know,
how
many
cubes
will
still be
set
into
the
proces
S
and/or
when
is a
proces
S
closed
at all...

)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16500

34004

Laszl6
Pitlik

17388
27860

17388
27860

Re: Co
rrupte
d
logisti
c
robot

So, If
yellow
and
green
must
be
placed
to spot
N
for ex
ample
experi
ment#
1 scen
ariol -
8 and
experi
ment#
2 scen
ario
1-8,
So
both
of
them
must
be
placed
to spot

65

351
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"A".
Can
we
stack
green
and
yellow
on
spot
"A", a
ccordi
ng to
the
rules it
does
not
break
any
rules,
there
is not
rules
about
2 diffe
rent
colors
cannot
stack
on
each
other.
<--W
ow
(still
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see: ht
tps://m
oodle.
kodola
nyi.hu/
mod/f
orum/
discus
s.php?
d=634
98#pl
65010
)

Page 201 /296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16500

34004

Laszl6
Pitlik

17388
28018

17388
28018

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

Itis
worth
to read
all pre
vious
entries
1)
Especi
ally: ht
tps://m
oodle.
kodola
nyi.hu/
mod/f
orum/
discus
s.php?
d=634
98#pl
65013
Go,
please,
from
this
link ba
ckwar
d!

17

144
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16498

47139

Benja
min
Honti

17388
31761

17388
31761

Targy:
Re: Co
rrupte
d
logisti
c
robot

The
system
takes
input
values
(e.g.,
a, b, c,
d) and
determ
ines
the nu
mber
and
color
of the
cubes.

The
output
is orga
nized
into
towers
, follo
wing a
fixed
color
order:
1st

102

462
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place:
Green
and
Yello
w
cubes
2nd
place:
Blue
cubes
3rd
place:
Red
cubes

The
output
format
is 2(??
),
where:
The
"Misr
eplace
d by
the nu
mber
of
cubes
of that
color.
The br
ackets
contai
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n the c
orresp
onding
input
values
for
that
color.

If
there
are mu
Itiple
cubes
of the
same
color,
they
are
stacke
don
top of
each
other
(e.g.,
if
there
are 2
green
cubes,
the
first
place
will
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show "
2Gree
nll
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16501

63498

16501

34004

Laszl6
Pitlik

17388
33368

17388
33368

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

What
is the
conclu
sion
based
on
these d
eclarat
ions ¢
oncern
ing the
scenar
10s #1
0-11-1
2! The
KNUT
H-prin
ciple
says: k
nowle
dge/sci
ence
1s,
what
can be
transfo
rmed/t
ransfer
red/tra

36

262
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nslated
/transs
cripted
into
source
codes
= what
can be
used
for op
erative
steps
inano
bjectiv
e/cons
istent/
conseq
uent
way...

16501

63498

16500

47139

Benja
min
Honti

17388
33665

17388
33665

Targy:
Re: Co
rrupte
d
logisti
c
robot

This is | 1
very
good!
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id |discus | paren |userid |userfu | create | modif | maile |subjec| messa | messa | messa | attach | totalsc | mailn | delete | privat | privat | wordc | charc
sion t llnam d ied d t ge | gefor |getrus| ment | ore ow d |ereply|ereply| ount | ount
e mat t to | tofull
name
16501 (63498 | 16501 |34004 |Laszlé |17388 |17388 |1 Re: Please, | 1 0 0 0 0 0 0 15 84
9 8 Pitlik |34838 |34838 Targy: |always
Re: Co|try to
rrupte |use the
d "very-
logisti |good-
c materi
robot |als"
for the
next
step of
the co
ncludi
ng pro
cess...
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16496

34004

Laszl6
Pitlik

17388
48263

17388
48263

Re: Co
rrupte
d
logisti
c

robot

New
task:
please,
try to
create
arel.
small,
but co
mplex
promp
t for
the Ch
atGPT
and/or
Copilo
t, etc.
in
order
to
involv
e it
into
this pr
oject.
This
task
has
two
layers:

51

244
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what is
a good
promp
t? Para
Ilel:
how
good
is the i
nterpr
etation
potenti
al of C
hatGP
T/Cop
ilot/etc
.-1n
caseof
a good
promp
t!
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16501

46674

Boldsu
kh Ga
nzorig

17388
56659

17388
56659

Targy:
Re: Co
rrupte
d
logisti
c
robot

Accor
ding to
all sce
nario
rules,
there
is not
any
rules
about
not sta
cking
differe
nt
color.
It
seems
bit
tricky
but, in
logical
ly,
robot
can
put
one
cube
in the
spot at

186

2539
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time
in
order.
So, in
scenar
i0 10,
green
block
must
be on
the
spot A
firstly
twice
before
the
yellow
one. In
scenar
011,
green,
yellow
and
green
again
in
order.
In the
scenar
10 12,
green
one is
placed
after
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yellow
in
order.

Here
are the
correct
answer
s follo
wing
all the
rules
in scen
ario 1
to 8.

Experi
ment#
1, Sce
nario#
10,11,
12 ans
WErS a
ccordi
ng to
the
rules.

Experi
ment#
1 Scen
ario#1
0

Cell(K
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27)_ol
d_all=
20777
) <--C
ell(K2
T)_ne
w_col
our=gr
een,
yellow
Cell(K
28)_ol
d_all=
27777
)<--C
ell(K2
8)_ne
w_col
our=n
ot-
used
Cell(K
29) ol
d_all=
20777
) <--C
ell(K2
9)_ne
w_col
our=re
d
Cell(K
30)_ol
d_all=
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27777
) <--C
ell(K3
0)_ne
w_col
our=n
ot
used
skkok
Cell(K
27)_ol
d_all=
27777
) <--C
ell(K2
T)_ne
w_nu
mber=
3
Cell(K
28)_ol
d_all=
27777
) <--C
ell(K2
8)_ne
w_nu
mber=
not-us
ed=0
Cell(K
29) ol
d_all=
27272
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Cell(K
30)_ol
d_all=
27777
)<--C
ell(K3
0)_ne
w_nu
mber=
not-us
ed=0
skskesk
Cell(K
27)_ol
d_all=
227272

27777

) <--C
ell(K2
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8)_ne
w_lett
ers=no
t-used
=0

Cell(K
29) ol
d_all=
207777
) <--C
ell(K2
9)_ne
w_lett
ers=(c
)
Cell(K
30)_ol
d_all=
20777
) <--C
ell(K3
0)_ne
w_lett
ers=no
t-used
=0

skkok

Scenar
io#l1
skskesk

Cell(Q
27)_ol
d_all=
227272
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27779

) <--C
ell(Q2
8)_ne
w_col
our=n
ot-
used
Cell(Q
29) ol
d_all=
227272

27777

) <--C
ell(Q3
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0)_ne
w_col
our=n
ot-

used
sksksk

Cell(Q
27)_ol
d_all=
27777
)<--C
ell(Q2
T)_ne
w_nu
mber=
3
Cell(Q
28)_ol
d_all=
27777
)<--C
ell(Q2
8)_ne
w_nu
mber=
not-us
ed=0
Cell(Q
29) ol
d_all=
27777
) <--C
ell(Q2
9)_ne

Page 220 /296




w_nu
mber=
1
Cell(Q
30)_ol
d_all=
27777
) <--C
ell(Q3
0)_ne
w_nu
mber=
not-us
ed=0
skkok
Cell(Q
27)_ol
d_all=
27777
) <--C
ell(Q2
T)_ne
w_lett
ers=(a
cd)
Cell(Q
28)_ol
d_all=
27777
) <--C
ell(Q2
8)_ne
w_lett
ers=no
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t-used
=()
Cell(Q
29) ol
d_all=
227272

27777
)<--C
ell(Q3
0)_ne
w_lett
ers=no
t-used
=0

skskesk
Scenar
i0#12
skkok
Cell(
W27)_
old_all
=7(77?
7 <--
Cell(
W27)_
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new_c
olour=
yellow
, green
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(
W28)_
new_c
olour=
blue
Cell(
W29)_
old_all
=2(77?
7 <--
Cell(
W29)_
new_c
olour=
not-
used
Cell(
W30)_
old_all
=2077?
7 <--
Cell(
W30)_
new_c
olour=
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not-
used
skksk
Cell(
W27)_
old_all
=2(77?
?7) <--
Cell(
W27)_
new_n
umber
Cell(
W28)_
old_all
=2(77?
7 <--
Cell(
W28)_
new_n
umber
Cell(
W29)_
old_all
=2077?
7 <--
Cell(
W29)_
new_n
umber
=not-u
sed=0
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Cell(
W30)_
old_all
=277
7 <--
Cell(
W30)_
new_n
umber
=not-u
sed=0
skskesk
Cell(
W27)_
old_all
=277
7 <--
Cell(
W27)_
new_1
etters=
(ab)
Cell(
W28)_
old_all
=277
7 <--
Cell(
W28)_
new_1
etters=
(cd)
Cell(
W29)_

Page 225 /296




old_all
=2(777
7 <--
Cell(
W29)_
new_1
etters=
not-us
ed=()
Cell(
W30)_
old_all
=2(77?
7 <--
Cell(
W30)_
new_|
etters=
not-us
ed=()

Kk

Page 226 /296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16502

34004

Laszl6
Pitlik

17388
57860

17388
57860

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

WOW
! What
can we
identif
y as he
rmene
utical
trap in
the def
inition
of this
entire
task?
Why
are a
lot of
wrong
solutio
ns/inte
rpretat
ions?
How
should
have
been f
ormula
ted
this
task as

41

212
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such
in
order
to min
imize
the mi
sunder
standi
ng pot
ential
of this
task?
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16502

46675

Shagai
Turtog
tokh

17388
62685

17388
62685

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

We as
sumed
each
slot
could
hold
only
one
color,
ignori
ng the
possibi
lity of
stacki
ng.
This is
a herm
eneuti
cal
trapat
hinkin
g error
where
our
biases
(like a
ssumin
g "one
color,

97

540
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one
slot")
blind
us to
simple
r logic.
The
robot
logic
worke
d corr
ectly;
the pr
oblem
was
our
false 1
nterpr
etation

Herme
neutic
al
traps
happe
n
when
we
force
our
beliefs
onto si
tuation
S
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instead
of
seekin
g the
real ex
planati
on.

Icans
ee/exp
erienc
e that
biases
distort
unders
tandin
g.
Alway
Stesta
ssumpt
ions
against
eviden
ce.

to min
imize
the pot
ential
misun
dersta
nding
of this
task,
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we can
state
the
rules e
xplicitl
y.

e.g. M
ultiple
colors
can
occup
y the
same
slot.

Page 232 /296




id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16496

46682

Yaruu-
Aldar
Enkht
ur

17388
63696

17388
63696

Re: Co
rrupte
d
logisti
c
robot

The
basic q
uestio
n
answer
is: Inc
orrect.

Reaso
n:

In Exp
erimen
t#1,S
cenari
0 #9,
there
1S no
green
color
presen
t in the
"Input
9" col
umn.
This
means
that
the
first so

66

902

Page 233 /296




lution
layer
1s inco
rrect, s
pecific
ally:
Cell(E
27)_ol
d_all=
27777
)< C
ell(E2
T)_ne
w_col
our=gr
een.

The
correct
answer

ksksk

Cell(E
27)_ol
d_all=
27777
)<--C
ell(E2
T)_ne

w_col
our=y
ellow

Cell(E

28) ol
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d_all=
20777
)<--C
ell(E2
8)_ne
w_col
our=bl
ue
Cell(E
29) ol
d_all=
27777
)<--C
ell(E2
9)_ne
w_col
our=re
d
Cell(E
30)_ol
d_all=
227272

ot-
used
skskesk
Cell(E
27)_ol
d_all=
227272
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Cell(E
28)_ol
d_all=
27777
)<--C
ell(E2
8)_ne
w_nu
mber=
2
Cell(E
29) ol
d_all=
27777
)<--C
ell(E2
9)_ne
w_nu
mber=
1
Cell(E
30)_ol
d_all=
27777
)<--C
ell(E3
0)_ne
w_nu
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mber=
not-us
ed=0
kskesk
Cell(E
27)_ol
d_all=
27777
)<--C
ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
27777
)<--C
ell(E2
8)_ne
w_lett
ers=(a
d)
Cell(E
29) ol
d_all=
227272
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Cell(E
30)_ol
d_all=
22779
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16495

46671

Ariun
bold
Munk
hjargal

17388
64472

17388
64472

Re: Co
rrupte
d
logisti
c
robot

Summa
ry of
the
Rules
(INO31:
Corrupt
ed
robot |
KJE
Moodle

204

1015
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https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
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https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165000

The as
sumpti
on that
each
slot
should
contai
n only
one
color
18
false.
In
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earlier
scenar
10s, it
seeme
d true,
but in
Scenar
10 #12,
multip
le
colors
appear
in the
same
slot.

This
reveals
the
herme
neutic
al

tr

ap
—we
assum
eda
more ¢
omple
X rule
than n
ecessa
ry.
The
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correct
rule is
that
green
always
goes to
slot A
if pres
ent,
and
the
other
colors
shift a
ccordi
ngly.
Tower
s are
not
strictly
limite
dto
one
color
per
slot; m
ultiple
towers
can
appear
in the
same
slot
when
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https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010
https://moodle.kodolanyi.hu/mod/forum/discuss.php?d=63498#p165010

id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16502

34004

Laszl6
Pitlik

17388
65983

17388
65983

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

Exact i
nterpr
etation
! Paral
lel: the
robot
does
not
have i
nform
ation
about
more
than 3
colour
s (red,
blue,
green),
AND
for
eachu
ndefin
ied col
our-
code,
slot A
1s dedi
cated!
Congr

[Sm—

31

180
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atulati
on!
Projec
tis
closed

')

16502

63498

16502

34004

Laszl6
Pitlik

17388
66027

17388
66027

Re: Co
rrupte
d
logisti
c
robot

FYI:h |1
ttps://
moodl
e.kodo
lanyi.h
u/mod
/forum
/discus
s.php?
d=634
98#pl
65023
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16502

63498

16502

34004

Laszl6
Pitlik

17388
66096

17388
66096

Re: Co
rrupte
d
logisti
c

robot

Please,
compa
re
your s
olution
with
this
one: ht
tps://m
oodle.
kodola
nyi.hu/
mod/f
orum/
discus
s.php?
d=634
98#pl
65023

103
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16503

63498

16496

46681

Amgal
anbaat
ar Am
arsana
a

17388
66722

17388
66790

Re: Co
rrupte
d
logisti
c
robot

The
first so
lution
layer (
Colour
S) is in
correct
becaus
e:

Solut
ion

Cell(E
27)_ol
d_all=
22777

99

1027
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207777
)<--C
ell(E2
8)_ne
w_col
our=bl
ue

Cell(E
29) ol
d_all=
22779

Cell(E
30)_ol
d_all=
27777

)<--C
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ell(E3
0)_ne
w_col
our=n

used

Numb
ers

Cell(E
28)_ol
d_all=
27777
)<--C
ell(E2
8)_ne
w_nu
mber=
2

Cell(E
29)_ol
d_all=
22777
) <--C
ell(E2
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9)_ne
w_nu
mber=

Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3

0)_ne

w_nu

mber=
not-us

ed=0

Letters

Cell(E
27)_ol
d_all=
27777
)<--C
ell(E2
T)_ne
w_lett
ers=(b

)

Cell(E
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28)_ol
d_all=
20777
) <--C
ell(E2

8)_ne

w_lett
ers=(a
d)

Cell(E
29)_ol
d_all=
27777
)<--C
ell(E2
9)_ne
w_lett
ers=(c

)

Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3

0)_ne

w_lett
ers=no
t-used

=0

Final
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Answer
The
first
solutio
n layer
(colour
S) was i
ncorrec
t due to
the
green
value.
The
correct
assign
ment
should
be
yellow
instead.
Numbe
rs and
letters
layers
were
correct.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16503

63498

16503

34004

Laszl6
Pitlik

17388
67779

17388
67779

Re: Co
rrupte
d
logisti
c
robot

Please,
follow
the
closing
interpr
etation
s here:
https://
moodl
e.kodo
lanyi.h
u/mod
/forum
/discus
s.php?
d=634
98#pl
65023

108
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16503

63498

16496

46678

Nurbo
1 Byek
bolat

17388
80472

17388
80472

Targy:
Re: Co
rrupte
d
logisti
c
robot

Not
correct
,this
error h
appen
ed bec
ause it
1S
yellow
instead
of
green (
Cell(E
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_col
our=gr
een).

Correc
t
anwser

Kk

Cell(E

44

789
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27)_ol
d_all=
20777
) <--C
ell(E2
T)_ne
w_col
our=y
ellow
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_col
our=bl
ue

Cell(E
29) ol
d_all=
20777
) <--C
ell(E2
9)_ne
w_col
our=re
d

Cell(E
30)_ol
d_all=
27272

) <--C
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ell(E3
0)_ne
w_col
our=n
ot-
used
skkok
Cell(E
27)_ol
d_all=
207777
) <--C
ell(E2
T)_ne
w_nu
mber=
1
Cell(E
28)_ol
d_all=
20777
) <--C
ell(E2
8)_ne
w_nu
mber=
2
Cell(E
29) ol
d_all=
20777
) <--C
ell(E2
9)_ne
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w_nu
mber=
1
Cell(E
30)_ol
d_all=
27777
) <--C
ell(E3
0)_ne
w_nu
mber=
not-us
ed=0
skkok

Cell(E
27)_ol
d_all=
27777
) <--C
ell(E2
T)_ne
w_lett
ers=(b
)
Cell(E
28)_ol
d_all=
27777
) <--C
ell(E2
8)_ne
w_lett
ers=(a
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d)

Cell(E
29) ol
d_all=
207777
) <--C
ell(E2
9)_ne
w_lett
ers=(c
)
Cell(E
30)_ol
d_all=
20777
) <--C
ell(E3
0)_ne
w_lett
ers=no
t-used

=0

Kk
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16503

63498

16503

34004

Laszl6
Pitlik

17389
08008

17389
08008

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

Do/Di
d we
need
the inf
ormati
on
units
from
the ex
perime
nt#2 in
order
to
derive
the her
meneu
tical
trap as
such?
Which
experi
ment
(#1 or
#2)
has
more (
releva
nt) inf
ormati

31

156
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on
units
if at
all?
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16504

63498

16503

46680

Zanda
ngarav
Nyam
baatar

17390
45882

17390
45882

Targy:
Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

Experi
ment
#2 con
tains
more r
elevan
t infor
mation
units ¢
ompar
ed to
Experi
ment
#1.In
Experi
ment
#1, the
colors
green,
red,
and
blue
follow
a
known
order,
while
yellow
is the

[Sm—

64

333
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unkno
wn var
iable.
Yello
w
could
appear
first, b
etween
any of
the
other
colors,
or last.
Howe
ver, in
Experi
ment
#2,
yellow
1S
clearly
placed
first in
input
9,
which
provid
esa
more
definit
eandr
elevan
t piece
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of info
rmatio
n.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16504

63498

16496

45293

Mark
Zsigm
ond
Lévai

17390
51924

17390
51924

Targy:
Re: Co
rrupte
d
logisti
c
robot

I
would
use ad
atabas
e struc
ture
with s
eparat
e
tables
for stu
dents,
experi
ments,
solutio
n
layers,
studen
t soluti
ons,
and ev
aluatio
ns.
This
setup
would
allow
for unl
imited

98

494
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guesse
s per
studen
t per
layer.
In
Excel,
|
would
use
pivot
tables
to
analyz
e total
scores,
the nu
mber
of gue
sses,
and
the
best
guesse
S pers
tudent.
This st
ructur
e
would
suppor
t detail
ed eval
uation
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and
help
rank st
udents
based
on per
forma
nce
and co
rrectne
SS.

This is
my
answer
to exp
erimen
t#1
EXP
9-12
and ex
perime
nt # 2
9-12
Please
let me
know
if
there's
anythi
ng 'm
missin
gorif
I've
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made
any
errors
in my
approa
ch.

16504

63498

16496

34004

Laszl6
Pitlik

17390
65148

17390
65148

Re:
Targy:
Corru
pted
logisti
c
robot

Please,
trytoi
nterpr
et the
enteri
comm
unicati
on - es
pecial
y this
one: ht
tps://m
oodle.
kodola
nyi.hu/
mod/f
orum/
discus
s.php?
d=634
98#pl
65027

12 126
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16504

63498

16504

34004

Laszl6
Pitlik

17390
65369

17390
65369

Re:
Targy:
Re: Co
rrupte
d
logisti
c

robot

https://
miau.
my-xX.
hu/mia
u/320/
moodl
e_cub
es_log
ic/testi
ng_tas
k1_sol
utions.
xIsx <-
-please
, comp
are
your s
olution
with
this
one. Q
uestio
n: can
we
define
a struc
ture
for
storing

[Sm—

31

263
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unlimi
zed
guesse
s WIT
HOUT
clarify
ing the
final v
isualis
ation
for the
comm
on acc
epted s
olution
s for s
cenari
os #10
-11-12
?
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16504

63498

16502

34004

Laszl6
Pitlik

17390
65457

17390
65457

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

https://
miau.
my-X.
hu/mia
u/320/
moodl
e_cub
es_log
ic/testi
ng_tas
k1_sol
utions.
xlsx
<__
worth
interpr
eting
in
order
to
derive
the
final st
ructur
e for
storing
unlimi
ted gu
esses!

15

156
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16506

63498

16496

46675

Shagai
Turtog
tokh

17393
17283

17393
17283

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

A
demo
structu
re for
storing
unlimi
ted
guesse
s in
cases
where
all stu
dent, e
xperi
ment,
scenar
10,
place
ID,
and
layers
can be
found
in the
attach
ed EX
CEL
file.

39

198
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Please
let me
know
if
there
are
any su
ggestio
ns for
impro
ving
its effi
ciency
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16506

63498

16506

34004

Laszl6
Pitlik

17393
34538

17393
35476

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

The str
ucturi
ng as
such is
not the
direct
proble
m (alt
hough
we are
serach
ing for
the ap
propri
ate sto
ring-st
ructur
e - but
the ap
propri
ate str
ucture
1S not
a tech
nical p
henom
enon
rather
a way

249

1459
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e.g. to
suspici
on inte
rpretat
ion):
we are
search
ing for
a
storing
structu
re
where
the
reports
can be
interpr
eted in
a
useful
way. S
electe
d
record
s are
not the
expect
ed
reports
in gen
eral.
The so-
called
Cross-
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tabs
(in
Excel:
pivots)
create
from
the sel
ected
raw
record
S amu
Itidim
ension
al
report
with a
ppropr
iate re
port-st
ructur
es (1o
w-hea
ders, ¢
olumn
-heade
1S, agg
regatio
n-
rules,
etc.).
But sel
ected
(raw)
record
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S as
such
can be
interes
ting IF
THE 1
NTER
PRET
ATIO
N RU
LES
FOR
THE
M
ARE
GIVE
N!Th
erefor
e: the
develp
ment
steps
are in
ranked
form:
0. Sus
picion/
hypoth
esis
--> 1.1
nterpr
etation
rules
--> 2,
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neede
de.g.
pivot-s
tructur
e (outp
ut)
---> 3.
storing
strucut
re
(input)
. The
file "g
uesses
_demo
XIsx"
presen
s
steps
3. and
2. (f
the sel
ected
raw
record
sarea
cecepte
dasre
ports)
but
these
reports
cover
no pla
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nned
needs
(cf.
step
0), the
refore
there
are no
interpr
etation
rules
given
to expl
ain, w
hether
a suspi
cion/h
ypothe
Sis 1S
wrong
or
true?!
Demo:
Suspic
ion =
The
wrong
guesse
s are
using
more
the 3
slots!
Rule:
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If the
count
of the
affecte
d slots
in case
of a
given
(or
each)
Studen
tis
more
than 3
for all
scenar
i0s (#1
-12),
than
the sol
ution
must
be
wrong
!
Report
: TOW-
header
(s): St
udent-
ID(s),
Colum
n-head
ers: Sl
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ot-IDs,
cells =
count
of
guesse
s conc
erning
the
slots,
Filter:
All sce
narios.
Expect
ation:
the Slo
t_
ID=D
may
never
exit in
the
reports
in case
of Stu
dents
having
the ex
pected
solutio
n
about
the her
meneu
tical
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trap! (

Paralle
I demo
- https:
//moo

dle.ko

dolany
1.hu/m
od/for
um/dis
cuss.p

hp?d=
63498
#p165
068)
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16506

63498

16506

34004

Laszl6
Pitlik

17393
34629

17393
34629

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

This
paralle
1 task
about
the
storing
structu
re
should
have
been a
kind
of hint
helpin
gtoid
entify
the her
meneu
tical
trap
(see: P
ARAL
LEL
task:-)

23

122
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16506

63498

16496

34004

Laszl6
Pitlik

17393
35445

17393
35857

Re:
Targy:
Re: Co
rrupte
d
logisti
c

robot

This (
https://
miau.
my-X.
hu/mia
u/320/
moodl
e_cub
es_log
ic/sum
mary_
report
_2025
0212-
0535.x
Isx) is
the
most
recent
inform
ation p
ackage
about
the act
1vities
of the
affecte
d Stud
ents:

183

1243

Page 283 /296




the we
11-
known
questi
on is,
WHO
IS
THE
BEST
7cf.h
ttps://
moodl
e.kodo
lanyi.h
u/mod
/forum
/discus
s.php?
d=634
98#pl
65066
(Suspi
cion =
Can
we
evauat
e
EACH
Studen
t with
the
same e
valuati
on
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index?
/ Inter
pretati
on rule
=1IF
the
COCO
Y0-m
odel
does
deliver
for
each
Studen
t the
same
norm
value
of
1000,
THEN
the sus
picion/
hypoth
esis is
true /
Neede
d
report:
OAM
(<--ide
ntical
with
this
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XLSX
= https
://mia
u.my-
x.hu/m
1au/32
0/moo
dle_cu
bes_lo
gic/su
mmar

_Tepo
rt_202
50212
-0535.
xIsx -
where
object
s = Stu
dents,
attribu
tes=s
tatistic
al phe
nomen
a with
approp
riate D
IREC
TION
for a
ranked
OAM
as

Page 286 /296




direct
input
for C
OCO-
YO0)...
Directi
on
demo:
e.g.
the
more
is the
Numb
erof d
iscussi
ons
posted
and/or
the Nu
mber
of
replies
posted
and/or
the Nu
mber
of atta
chmen
ts
and/or
the Nu
mber
of
views
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and/or
the
Word
count
and/or
the Ch
aracter
count
THE
BETT
ER is
the per
forma
nce +
the yo
unger
the
Earlies
t post
THE
BETT
ER is
the per
forma
nce +
the
later
the
Most
recent
post
THE
BETT
ER is
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the per
forma
nce...

More:
https://
miau.
my-xX.
hu/mia
u/320/
moodl
e_cub
es_log
1c/?7C=
M:;O=
D-
e.g.
Which
kind
of new
attribu
tes
could
we
define
with
which
directi
ontoi
mprov
ethed
erivati
on of
the
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BEST
STUD
ENT
based
on this
structu
re: htt
ps://mi
au.my-
x.hu/m
1au/32
0/moo
dle_cu
bes_lo
gic/dis
cussio
n.html
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16507

63498

16496

46671

Ariun
bold
Munk
hjargal

17393
72427

17393
72427

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

I have
prepar
ed an
Excel
demo
file
that or
ganize
S
studen
t
guesse
sinas
tructur
ed
format
and in
cludes
a pivot
table
for an
alysis.

The
pivot
table s
umma
rizes
studen

80

455
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t attem
pts for
each
cell re
ferenc
e.
Rows:
Studen
t_ID
Colum
ns: Cel
1_Refe
rence
(E27,
E28,
etc.)
Values

Count
of
correct
attemp
ts per
cell.
The "
Overal
I Corr
ect?"
colum
n indic
ates w
hether
the
latest
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valid
attemp
t matc
hes the
expect
ed solu
tion.
This
allows
for
easy e
valuati
onof s
tudent
s' prog
ress
while t
rackin
g mult
iple gu
esses.
Let
me
know
if any
adjust
ments
are ne
eded.
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id

discus
sion

paren

userid

userfu
IInam
e

create
d

modif
ied

maile

subjec

messa
ge

messa
gefor
mat

messa
getrus

attach
ment

totalsc
ore

mailn
ow

delete
d

privat
ereply
to

privat
ereply
tofull
name

wordc
ount

charc
ount

16507

63498

16507

34004

Laszl6
Pitlik

17393
76064

17393
76064

Re:
Targy:
Re: Co
rrupte
d
logisti
c
robot

https://
miau.
my-X.
hu/mia
u/320/
moodl
e_cub
es_log
ic/gues
sing_d
emo.xl
SX -
Please,
see the
yellow
sheet
and
the
yellow
cell!
The in
terpret
ation
as
such
seems
to be
smart!
:-) But

75

429
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the piv
ot-
table p
resents
2
counts
in the
yellow
cell
and
one of
them
isagr
een-
value
in the
backgr
ound.
If all
two
raw
data
are gre
en-val
ues,
then
the co
unt=2-
status
is also
given -
and
the mo
nitorin
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g
effect

does b
ecome
irratio
nal?!
Excel-
pivots
can be
define
d with
filters,
where
the ex
pected
rules
might
probab
ly be e
nforce
d?!
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